I-8 WA B % 2R 0 3R Bl 50 T

HEI¥XE 89 =% B3
ILBIYE ER 817 B

1. 317203 #HA. A5 4B T 28R 0% CREVTOM AL S 27> £y, FHa3bdt
KRB > 2 A FRG RIVES TN D 2 RA, KR TR RrRI B B T4 K B
LT BRBAWARIERBPABE D £ ST 2IFRIARRE BRI L <t 2 2B A, RilRE S - PR s TR
£z 28 BRBARE: 0BG T 2EFES 2 IR T RS L > TEELTTTE S 30 o
LB B WBiH B4 2 ERE AR )28 - THRET B L p e s B Bnrkd L 7 s
P AN BB A, SaBEEA N> EAR L5 TRET 2 2 1d Saint-Venanta FFE = Z 5
ThY., HHE oMU AR 5T 2T b S R AP AP EL 52 nu L P ER I 0B,

2. DUALIRAAMBL R T 20 WEN 0B oMuthn 2V A IR BL L Tk
WENeubey nBEE VL L EEATE W TRA LD Fh T2 L I A,

26U =~ %ok (Bt VE)+40-V)B+200t 8 ----(1)
2T U=(Un Ue Us) , W=(V,0,2), B=(3, B, &2)>

W=(0, 0, W), V=0 , V=0, VE=0 _

Il &, VI d WEREABRAER R LT TY tts Rp L, Vil EEE

Bh=b125772 XBS TR 4. :
K (1) IYFHITF s WELERBELATH 12 G2,
o = = B (5I0E (89BZ | Do T (Bu)+ Do kim(Bob)§

By = — 5.2 (Ba/2) Coomb (aB2 § Pl Tt (Bab)+ o2 Lo (60)

"\’ E/»:»:« kw\ (@H”)‘f E/mﬁ) k‘MN (@ml’)j + Aoo)/'t‘ Boo/y (2) ._—i__a. N
$o=- é’;g‘ (§w/2>/¢(/vb/}rt9 C@oﬂnf i — For Lo (b F%(i) T @:«V) ; B
“E»«(\‘: le(@wy)'{‘ Eof:k"vuﬂ(ﬁﬂ’” 9 EH 1 0
Ey = £ cooms { Dl Y™ D1 ™), BP= & (oo PV + Bl ™"},
35 = £ Aonms { o™= Bul ™y === (3)
Bz =CocZ , Boz=We=0 ----(4)

237 Dad, D, e, CooBIBREM4E 55T ERINAL AR E AL B-1 RAR
3. I EIvkgRg TARSL W (2), B) #IwR(4)a T TTFoaw WEL (1) A
LUBSWN. R IR £ DT 20 B I ) Ra oA, =L (7 Ur B30 Trlir w757 £2Ea
1Ty A,
26Ur =25 (/2 Coams Coofu [ 2D { amTulbu)/ba ¥ + Tuan (8D § 4 Tk} TR For+ 20m (-4
+40)/Ba¥ ]+ (M=454V) Tnr ) § 1+ Tl | B Tl F) = (mt4-40) Tun(ga ) |+ 2D m
X Ko (81 Ba¥ = Ko (G} | = B Ko (8o) (6 V% 20 (-4 +4v) /¥ ] = (=4 +4V ) Kt (Bob)}
CEZ B Kol ) (M4 4-40) Kmet G5 ] + 2(1-2V) AoV + 4 (1= V) Boo/y ===~ (5)
2G U= £ (oaoms { = mDws Y™+ i Dus Y ™™= (=24 41) Fono V™4 (it 2- 40 Fuo b § = - == (6)
Tvr= 322 (82/2) (00m8 (60 fuE { 2 Dok L L fab) [ Cm=0)/(Bar ot 1§ = T ) /Bar ] o Ll )
X 1§ 200 =3+ 20+ 2000 ) (=4 +41)/ (@} 5 Toans Bl o=V m~de44) o+ 8ot | =Rl (320
X TonBel) = et Gel)} (ot 1) (i 4=40) Bt 48} 1 205 L aBr) o) 805+ 14 Ko (80807

15



— Era { KBl )] 20m=3420 + 20 st ) (wt= 4041 )/ (Bubr ) s — Ko Ba)] (n ) (m~444V) /B +6av} )

+ Bl L(3-2V) i (50¥) Komas i) { (w1 (s 4= /By 4+ Bab § ] T2 Aoo=40-V) Boo /4 2vs0-(T)
Tl = — 2 tocm® { MO Dad VU 4 () Do V2 (et D m=2) Froo ¥+ (1) (42) Eod™-(8)
4, BREE W- 1 T3 AR BMEr 2% 2 BABatER &350 55 ¢ HA,
V=0 = h 0l Sve=0, W=C,8w=0, ¥Y=b thv7 Ge=0, Gre=0, tn=-P gﬂ("(@)

Z=1f e hpu Ivz=0, Trw=0, Tez=0
NINT {o<@<@o, -89t + 8,7
2T~ 0l FL2T B o —oA L EL A

0 [ riwdadhs ]

I, P6,2) € Pouner 8801 EM T2 - WA L1 2,

PG, ?)2{

P8, %) = Poo +§2%oc@qm& 12 2 Drlooms ool

Tex ZJOZU: Txe volv olg

122 eo=208ed frk, Pro= 43 by k., g, 1.0

Vo= A 2o D Bl /TBAA 8T 2 05em8 9 09

[
N}
@

Th, 5”‘:31 [m=0] §M=%O Im=0] 0'7\

0 [m21] 1 [m21)

m AR

il
N
i
8T et T

5. Ao B IAEL Trelovzathh 05

R4 X)), Dol RI O D204 T3, 25 Oye 0.4

I Troadfay 280480 18 FFEAL 03

3REL VRSB ES N5, : 0.2
Qn Qi Qo Qe g}imf) O‘l 0.1
Q21 Qz2 Q2 O mon | --- (10) 0

Qs Qn Qs On | | Entl OJ

—*‘Z/Ih

Qa Qaz (43 Qa b _0'10 05 1.0
Cu Ce Co Cu Doy 70 W-2 0=01=247% §vr a2
Ca (22 Cz Ca i )0 12
Cn Caz Cn Cw Fxo o (11)-—@ 1_0\ r=4.0a
Ca Ca Co Ca Emo ~Foe g 08—
BRBLI AFHEAEM LRI ) = 0A, f 0'6 s da
Avo =W~1) oo / {2020 -1)V+ DA~ 1) N
Boo =— 0o /3 4(v) (056 1)} j 1) 0.4 s
Con =V Pao/ § (0= @41 02— 5
S B ER sdgle LT b/a=4.0, (b 0
~0)/%=0.5 HEwV=0.25 28Rk d/h  —02 R
=02, G=T/FLLEBAN O 33U s _ g4 e
TUFWE- 2 55 FE-3 -5 L6 B-3000 g
TWETes W= 0 1= 5T 2 PG =50 T, _os ] = Z/h
AAWBL R V23 my L2017 S 0 0.5 1.0

LT H %,

-3 0=0:5r7% Jge oA



